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No1t

BepHO 11 paBeHCTBO:

a) 196 =14; B) 40,0121 =-0,11;
6) —7+/81 = —63; r) ji-\/o,oom =017
Briuucianre: Ne2
a) ((V2)?)?; B) (v3)%; n) (-v2)%;
6
6) (v5)*; r) (5v2); e) ( 173 ) :
Ne3
HNMeeT Jim cMBICJI BBIpaXeHHUe: :
a) Vbx npu x > 0; B) \/(——3x)2 +6 npu x < 0;

6) Vv-11x npmu x < 0; r) J/-2x-16 npu x > 0?




Ned
Pemnte ypaBHeHHe:

J12=5x +37 = 49;

o _09
J2.6-38x

Jv6—5x2 +2=38

0,3 (x — T)? = 0,27
NeS

[TocTponts rpaduk GyHKIHH Yy = x2




Hcnonb3ys
rpapMK HAaUTH
IPUOJIMKCHHBIC
3HAYCHUS
KOPHEN

YpaBHECHUU:
a) x?=05;
6) x?=3,5;
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x| 0|05 1,5 2 | 3 5 | 6 | 7 | 8
y | 00,7 1,2 | 1,4 | 1,7 2,2 | 24 |26 | 28

YA

5

4

y =Jx

3 ||

2

1
a >
=S 19 |1 4 | 5 7 | 8 | 9 |10 |7

e Ll NS

-fr;’.




. . 2 ' s . 4 .’0."“0
ITonbsysacy rpaUKOM, HanUgUTE:
a) 3HaueHue ¢pyHKnumu npu x = 1,5; 6,5;
0) Ipm KakKkoM X 3HaueHume (PyHKIHUH paBHO 2; 2,9.
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